
 
Jan12Whatdo we mean byspace

inductivelyCell complexes a.k.a
CW complexes i Start with a discrete setofptsX

f 1

We build a arm

O cells O skeleton

ii Inductivelyform n skeleton X

From X by attachingnegBasically gluecells together
D2 via ga Di x
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Quotient topology yindex In torus example
U E Xin open if X
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its preimage in X open X

x exerciseas



Can Either stop at a finite an openset
stage or continue
indefinitely

topology is the weaktopology

a set is open iff its intersection
with each cell is open

dimX s sup dim of cells

If dim X C X

weak top I quotient top

exercise Think aboutcontinuous paths
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I dim CW complexes

are graphs
RP s spaceof linesthru0 in Int

e.g
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Ep s spaceof lines thru 0 Networks Data Cech complexes

in Ont

serve ve u ve III
apt I 5 Robot arms Ghrist

or segs of U's R's
Also can have no x in last swap Ru URedges change last letter

2 examples
square commuting disjoint

All smooth closed manifolds RURR upper moves

All top closed manifolds go
to g

no proof

of dim 4 Manolsecu
anchored o

exercise drew thewholething




